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Spiral 1
1 (6.2B)

Which of the following statements is true?

A The opposite of -27 is -27, and its absolute value is 27.
B The opposite of 56 is -56, and its absolute value is -56.
C The opposite of -24 is -24, and its absolute value is

D The opposite of 43 is -43, and its absolute value i

2 (6.5C)

The shaded areas show equal parts @fthe same e.

equality correctly represents the shaded areas?

0.7 G0.70=7.0
H7.0=7.0 10
100 10
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3 (6.2C)

A student placed the following points on a number line.

e Point M at ﬂ
10

51

e PointNat 8.
3

e Point P at %.
65

e PointQat 9 .

- | T 1 r;l F: | 1
5 6 7 8

Which point is NOT correctly plac IS nugber line?

A Point M

B Point N
C Point P

= QY
N

\J
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Spiral 2
1(6.2C)

A student correctly labels the numbers -4.76, —4g : —4Z,and -4

the number line below.

< 1 1 1 1 1 1 1 1 1
€

-5.0

Which number will be located closest to -5.0?
F-4.76

G 42
3

H-4l
8

J -4.57

X

-4.0
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2 (6.2A)

Which number is NOT in the correct location?

04 Rational Numbers

Integers

oo

Whole Number;

\/:

Nw

A -5 ;
BO
c3
4
8
4
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3 (6.2A)

Which letter represents the correct location forz ?

Rational Numbers

Integers
Whole Number,
W
Fw
G x
Hy
J The s not belong in this graphic.

© 2017 SpiralEd Solutions




SplralEd Solutions
Spiral 3 “
1 (6.5C)

The shaded areas show equal parts of the same whole.

&

Which equality correc r ts shaded areas?

A 0.25=1
8

B 25% =
8

C 0.

© 2017 SpiralEd Solutions
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2 (6.2D) d

Students must complete 2 hours keyboard practice each week. The table
shows the progress of four students.

Keyboard Practice

Name Portion
Complete
Emma 0.35
4
Li —
iam 9
Olivia 4
Noah

Which list shows the names of the entsff order from the least amount
of practice time to the greatest amou actice time?

F Liam, Olivia, Noah, mma, Noah, Olivia, Liam

H Liam, Noah, Olivi J Noah, Olivia, Liam, Emma

3 (6.2E)

ing statements is NOT true?

Bzﬁ=1+2

=3E

D

w|o
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Spiral 4
1 (6.2E)

Which of the following statements is NOT true?

§=5§ G 2)1=2+1

5
6 9
H6+5=— J—-=3)9
: 3790
2 (6.2D)
The table shows the amount of time fqur stud ice Spanish

vocabulary on Tuesday.

kylar

Sebastian 1.4

istlshows the names of the students in order from the least amount
f pragtice time to the greatest amount of practice time?

ylar, Stella, Sam, Sebastian B Sebastian, Sam, Stella, Skylar
C Stella, Sam, Skylar, Sebastian D Sebastian, Skylar, Sam, Stella

© 2017 SpiralEd Solutions
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3 (6.2D)

Students must complete 16 hours of volunteer service each semester. The
table shows the progress of four students after the first two months of

school.

Volunteer Time Completed

Name cz::gf;;e
Mason %
Maddox %
Miguel %
Marcus 12

Which list shows the amount of v teentime completed in order from

greatest to least?

1

'n
c5>|°'|

"1

N |

00| N
o~ Blw

"

@
AW

- I
N|— -
. > o
N| =
Alw cn|CJ1
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Spiral 5

1 (6.3E)

Jasmine has $28.80 in savings. Her sister has Z%as much as Ja
How much money do the two girls have together?

Record your answer and fill in the bubbles. Be sure to use th ct place
value.

CXC " SEONCRCNCECNCKC)
CICECICYCYCK® SXCKO

2 (6.3E)

A cogkie recipeycallsTor 2% cups of flour. For the school bake sale Mrs.

1

es es > recipes of cookies. How much flour does she use?
113 G 12
H 11g J 121
3 3
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3 (6.3E)

Randall earns $245.50 mowing lawns. He puts % of his money in savin

and uses the rest to buy clothes for school. How much money does he
have for school clothes?

A $49.10 B $294.60
C $196.40 D 189.50

O
§

© 2017 SpiralEd Solutions
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Spiral 6
1(6.3C)

The diagram below is pictured in Kyle’s math textbook.

000
OO

The diagram models which equation?

F-4+6=2
G-6+4=-2
H -4x6=-2 V

J—6-(-4)=2

© 2017 SpiralEd Solutions
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2 (6.3C)

Trent sketches the diagram below to model a math equation.

. 1010,
L 1O,

[l
®

The diagram models which equation?

A-2-3=1 B-2+3=
C2-3=-1 2x3=1
3 (6.3D)

Which expressi alue of 67

F 3x(-2)+8—(

© 2017 SpiralEd Solutions




SpiralEd) Solutions
Spiral 7
1(6.3D)

Which expression has a value of 347

A 5x9+(-6)+(-2) B4x8-(-6)+3

C -3x8-(5-12) D (-2+8)x(—4+

2 (6.2D)

Students must read 200 pages per week. Thg'table s e progress of
4 students.

ason =

Mia 62.5%

st'to greatest?
Mason, Lucas, Sophia G Mia, Lucas, Mason, Sophia

H Sophia, Lucas, Mason, Mia J Sophia, Mason, Lucas, Mia

vl U'Jllull_u VIV IO
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3 (6.3E)

Elizabeth buys 50 meters of ribbon to make bows for the cheer squad.
Each bow uses 1.3 meters of ribbon. How many bows can Elizabeth make?

Record your answer and fill in the bubbles. Be sure to use the corr
value.

CHONONOHOIRIOHO,
SHONO O ORI
Q|0|0|0| |@
@|®|0|03 ®
OO} OO, @
®|®|0|®
®e® ® ®
@ a @
® 211®®
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Spiral 8

1 (6.3A)
A designer has 3% yards of fabric to make into banners that each

% of a yard of fabric. The designer will use the expression

determine how many banners she can make.
31.3
8 16
Which expression can also be used to calculate the n of banners that
can be cut from the fabric?

3116

8 3
6 3.3

8 16 V
PR Q

8 3

© 2017 SpiralEd Solutions
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2 (6.3A)

A builder has a 16-foot sheet of plywood that he needs to cut into % foo

sections. The builder will use the expression shown to calculate the numBer
of pieces that can be cut from the board.

16 + 1
3
Which expression can also be used to calculate the pieges that
can be cut from the board?
A 16
3
B 16.3

cl.16 @
3
1
D 16+(——
( 3)

%

3 (6.3B)
Which sta ut™2 multiplied by g must be true?
FTh is\Qreater than 12.

he product is less than §

4
product is equal to 12 multiplied by the reciprocal of %

J The product is less than 12.

© 2017 SpiralEd Solutions
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1 (6.3B)

A student multiplies a number by each of the numbers below. Which
number will result in a product less than the original number?

5 7 6 3

4 8 5 2
A2 B/ c®
4 8 5

2 (6.2D)

The table shows six students times

a 200-meter race.

ours)
22.18 sec

21.45 sec

Dennison 22.24 sec

DJ 22.5 sec

Dillon 21.98 sec

Drew 22.03 sec

o won?
ill G Drew

id J Dennison

© 2017 SpiralEd Solutions
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3 (6.3D)

Which expression has a value of 2?
A 3x(-2)+8—-(-4)

B (-2+8)x(—4+3)

C 4x8-(-6)+3

D (—6+5)x (4 +2)

%

X

© 2017 SpiralEd Solutions
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Spiral 10

1 (6.3D)

A teacher wrote this expression on the board.
5x(-3+5)—(-4)

What is the value of the expression?

F 44

G -4

H 18

J 14

2 (6.4C)

Jason has 3 red pencils g

4

C The num w pencils is % times the number of red pencils.

ellow pencils. Which statement is true?

A The number of re S is > Imes the number of yellow pencils.

B The number o is 2 times the number of yellow pencils.

D Th ed pencils is 3 more than the number of yellow pencils.

© 2017 SpiralEd Solutions
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3 (6.4C)
A bag of 24 buttons contains

e 6 red buttons

e 12 blue buttons
e 2 yellow buttons
e 4 green buttons

Which statement is true?

F The number of blue buttons is 2 times the number gf'gree t

G The number of red buttons is % times the n r Ohblue badttons.
H The number of yellow buttons is % times the,number of blue buttons.

J The number of blue buttons is 3 es the number of red buttons.

Q\/
K

© 2017 SpiralEd Solutions
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Spiral 11

1 (6.4D)

Austin completes his reading assignment in 20 minutes. During that tim
he reads 36 pages of his book. What is Austin’s reading rate in pa e
minute?

A 1.8 pages per minute
B 5.6 pages per minute
C 55.6 pages per minute

D 18 pages per minute

2 (6.4D)

A truck driver travels 870 miles, ds %hours. What is his average
speed in miles per hour?

Record your answer and filNin the bubb
value.

. Be sure to use the correct place

@OEOOOO®OOOO
@EQOOOOOOO
@OEODOOOOOO
@EOOOOOOOO
@EOOOOOOOO
@CEOOOOOOOO
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3 (6.4D)

A high efficiency car travels 624 miles on 12 gallons of gas. What is the
car’s rate of gas consumption in miles per gallon?

A 51.2 miles per gallon
B 48 miles per gallon
C 52 miles per gallon

D 61 miles per gallon

O
§

© 2017 SpiralEd Solutions
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Spiral 12
1(6.4B)
A bag of 24 buttons contains

= 6 red buttons
12 blue buttons

4 green buttons
What is the ratio of red buttons to yellow buttons?
F1.3

G1:2
H 4:1
J 3:1
2 (6.3A)
Which statement is true?
51.2_
5 3
D 3 +4 =
5

© 2017 SpiralEd Solutions
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3 (6.4B)
A set of pattern blocks contains

= 20 hexagons

= 48 squares

» 60 equilateral triangles
» 36 trapezoids

What is the ratio of squares to trapezoids?
F 3:4

G 4:3

H 12:19

J 2:1

X

© 2017 SpiralEd Solutions
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Spiral 13 |

1 (6.4B)

The prices for different sizes of ketchup are shown in the table.

Size Cost
16 oz. $1.29
20 oz.

36 oz. 9
48 oz. $4.69

Which amount is the best b
A 16 oz.

B 20 oz.
C 36 oz.
D 48 oz.

© 2017 SpiralEd Solutions
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2 (6.2D)

Which list shows the temperatures in order from coldest to warmest in
degrees Celsius?

F -2°C, -12°C, 21°C, 2°C, 12°C
G -12°C, -2°C, 2°C, 12°C, 21°C
H 21°C, 12°C, 2°C, - 2°C, -12°C
J -12°C, -2°C, 12°C, 2°C, 21°C

3 (6.3E)

Miguel’'s car gets an average of 31.5
San Antonio to Dallas, which is 270
he use?

iles pe lo e plans a trip from
iles. How many gallons of gas will

Record your answer and fill in the b
value.

e sure to use the correct place

©O0|0| |©|©
O|0|0|0| |O|O®
Q|0|0|0| |@|@
@I®(B®|0] |®|®
@@@@ @@
®OI®®|®]| |®|®
®|e|®|IG| |®|®
QI10|0|0| @@
®10(®|0] |90
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Spiral 14

1 (6.4A)

Which statement describes the relationship between x and y in these tw
equations?

y =-4x

y=x-4
F In y = -4xthe value of y is -4 times the value of x, ag 4 the
value of y is four less than the value of x.
G In y =—-4xthe value of y is 4 less than the v = x —4the
value of y is four times the value of x.
H In y = —4xthe value of y is -4 times the valug of x, in y =x—4the

value of y is four more—% than the

JIn y =-4xthe value of yis -4 ti
value of y is the value of fQur minus t

2 (6.3D)

e was -5°C. At 8:00 AM the temperature had
temperature had risen 4 more degrees. A cold
inthe afternoon, dropping the temperature 8 degrees
nset the temperature rose two degrees. What was
sunset?

The temperatur
risen 6 degrees.
front push
in one_hour.

D -1°C

© 2017 SpiralEd Solutions




3 (6.4A) |

Look at the table below.

Which statement is true about the data in the

F The value of y can be represented by a fungtion in the form y = ax,
because each y-value is a times as large as t onding x-value.

G The value of y can be represen
because each y-value is a more

by a function in the formy = x +a,
corgesponding x-value.

H The value of y can be represented
because each y-value is_g

nction in the formy = ax,
corresponding x-value.

J The value of y cag
because each y-ual

@ ese by a function in the formy = x+a,
< times as large as the corresponding x-value.

© 2017 SpiralEd Solutions
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Spiral 15
1(6.4C)

A pet store has

2 rabbits

18 white mice
12 gerbils

6 hamsters

Which statement is NOT true?

A The number of white mice is 9 times the n er of rabbits.

B The number of hamsters is half t umber of white mice.

C The number of hamsters is 3 t number of rabbits.

D The number of gerbils is twice the of hamsters.

© 2017 SpiralEd Solutions
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2 (6.5A) “

The school band earns $5 for every dozen candy bars sold. Which graph
models a relationship with the same proportion, showing earnings per
number of bars sold?

Candy Bar Sales Candy Bar Sales
25 4 25
20 20
15 f 15
10 / 10

0 0
F 0 6 12 18 24 30 36 42 48 54 60 0 6 12 1 36 42 48 54 60
Candy Bar Sales Candy Bar Sales

25 N 25

20 20

15

] 10

5

0

0 6 12 18 24 30 36 42 48 54 60
24 30 36 42 48 54 60

© 2017 SpiralEd Solutions




3 (6.5A)

To create orange frosting for Halloween cookies, a baker mixes 5 drops of

SpiralEd Solutions

red food coloring to every 3 drops of yellow. Which table shows the
possible values of r, the number of drops of red food coloring the baker
uses, and y, the number of drops of yellow coloring?

A
red drops yellow
(n drops (y)
5 3
10 6
15 9
C
red drops lo
(n d y.
5
9
27

6 4
7 5

red drops yellow
(n drops (y)
5 3
4 4
3 5

© 2017 SpiralEd Solutions




1 (6.5A)

The graph shows the relationship between the amount of time spent hiki
and the distance travelled.

Hiking

r travels two miles every five hours.
r travels five miles every two hours.
T iker travels at a rate of two miles per hour.

J The hiker travels 15 miles in four hours.

© 2017 SpiralEd Solutions




Spiral@ Solutions

2 (6.4A)

Which statement describes the relationship between x and y in these two
equations?

y =5x
y=x-95
A In y =5xthe value of y is 5 more than the value of x, andd 5 the

value of y is five less than the value of x.

B In y =5xthe value of y is 5 times the value of x, an —5¢he
value of y is five less than the value of x.

C In y =5xthe value of y is % times the valu€ of x, and in y = x —5the

value of y is five less than the value of x.

D In y =5xthe value of y is 5 timegfthe value of x, and in y = x —5the
value of y is five more than the value .

Q\/
K

© 2017 SpiralEd Solutions
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3 (6.4B)

In a design, the ratio of blue tiles to red tiles is 1:2. Which design fits this
ratio? (R = red tile, B = blue tile)

F G

R | B R

R B

B R | B

B R B

R | B R
" R R
= B B

R R R

R B B

© 2017 SpiralEd Solutions
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Spiral 17

1 (6.4H)

Jason ran 3.5 kilometers on Monday. What is this distance in meters?
A 3,500 m

B 350 m

C0.35m

D 0.035m

2 (6.4B)

In a package of craft beads the ratio of green ds lue beads is 1:3.
Which package fits this ratio?

F = 120 red G 100 red
= 100 blue . lue
= 30 green 4 green
= 24 orange = 20 orange
= 72 yellow = 75 yellow
H = 200red J = 124red
= 120 blue = 72 blue
= 30 = 24 green
= 200 = 20 orange
= 70 yellow

© 2017 SpiralEd Solutions
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3 (6.4H)

Mrs. Hill buys 12 gallons of milk each week. How many quarts of milk does
she buy?

Record your answer and fill in the bubbles. Be sure to use the corr
value.

SHOHOICICIRICIC
O|OO(O|®] |©®|O®
@0|0|0| |®@
ONONOO)]
ONONOJO] @
®0|0|6
®|®|@N6G
olfe @lfe @
OJIONC, Y© ®

¢
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Spiral 18
1(6.4H)

Evan threw a javelin 75 feet 8 inches. How many inches did Evan throw the
javelin?

F 900 in.
G 233 in.
H 908 in.
J 758 in.

2 (6.4H)
A recipe calls for 4% cups of wat mawy fluid ounces of water are in

1
4 —cups?
5 p

A 4.5f1l. oz. QV

B 45 fl. oz.
C72fl. oz
D 36 fl. oz.

© 2017 SpiralEd Solutions
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3 (6.3D) “

A meteorologist charted the temperature change in Antarctica every four
hours over a 24-hour period in degrees Celsius. The table shows the
changes he recorded.

. Change in
Time
Temperature
4:00 AM -2 degr
8:00 AM degrees
12:00 PM +
-1 degree

-3 degrees

-2 degrees

© 2017 SpiralEd Solutions
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Spiral 19
1 (6.3E)

Abby has $87.30. Her friend, Katia, has % as much as Abby. How muc

more money does Abby have than Katia?
A $58.20 B $29.10
C $145.50 D $43.65

2 (6.4H)

A package weighs 7% pounds. How many oun s the package
weigh?

F 124 oz.

G 112 oz.

J7.75 oz.

3 (6.

A spo s 296 centimeters of ribbon. How many meters of ribbon does
spoa@l hold?

m
C 2,960 m

D 0.296 m
© 2017 SpiralEd Solutions
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Spiral 20
1(6.4H)

Mrs. Johnson buys a turkey weighing 135 ounces. What is the weight of the
turkey in pounds?

F 13 Ibs. 5 oz.
G 16 Ibs. 7 oz.
H 8 Ibs. 7 oz.
J 9 lbs. 3 oz.

2 (6.3E)

A hiker averages 3.4 miles per hour. If he hike and 15 minutes,
then takes a 30-minute break, and flkes another 3 hours and 30 minutes,
how many miles does he travel?

Record your answer and fill in the b
value.

e sure to use the correct place

@EODOO®OWOO®O
@EOOOOOOOO
@OEOOO®OOOO
@EOOOOEOO
@EOOO®OOOO
@ECOOOOOOOO

© 2017 SpiralEd Solutions




Spiral@ Solutions

3 (6.3D)

Which expression has a value of -287
F (-6+5)x(—4+2)

G 6+5x(-4)-2

H-6-5x(-4)x2

J 6x5+((-4)+2)

%

X

© 2017 SpiralEd Solutions
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Spiral 21
1 (6.4E)

Which model represents a ratio of 4 to 5 shaded to unshaded?
A B

2 (6.4E)

Three out of
repr is

75
H 37

J 0.0375

ht members of the choir are male. Which decimal
jo?

© 2017 SpiralEd Solutions




Spiral@ Solutions

3 (6.4F)

This shaded model represents 100%.

What amount is represented by shaded portion of this model?

A 80% B 8% C 4% D

X

© 2017 SpiralEd Solutions
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Spiral 22
1(6.4F)

What percent and fraction are shaded in this model?

F 25% and -
4
3
G 75% and =
4
H 75% and %
2
J 66.7% and = @
3
2 (6.2D)

© 2017 SpiralEd Solutions
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3 (6.3E)

Amelia bakes bread for the holidays. Each loaf requires 2% teaspoons g
yeast. Yeast comes in jars containing 142 servings of % teaspoon east.

How many loaves of bread can Amelia bake with one jar of y.

Record your answer and fill in the bubbles. Be sure tQ @ orreet place
value.

(ONC>)

CEQUIP OOOOOO
©EE D0 OMO O O

©@EQCE O®YO © ©
CECESICKCECKCXSY AC,

©@EQ®O

© 2017 SpiralEd Solutions




Spiral@ Solutions

Spiral 23
1 (6.3E)

A spool of thread contains 274 meters of thread. A manufacturer uses 3.
meters of thread for each jacket produced. How many jackets can a
using one spool of thread?

A 84
B 85
C 843
D8

2 (6.3D)
Which expression has the greategsfvalu
F 3x(—2)+8—(-4)
G 3+(-2)x8+(-4)
H 3-(-2)x8—(-4)
J3x2-8+(—4

© 2017 SpiralEd Solutions
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3 (6.4E)

The shaded area of the model represents the number of sixth graders
taking art as an elective out of the total number of sixth graders.

What percent of sixth graders tak ?
A 20%
B 40%
C 80%
D 25 %

X

© 2017 SpiralEd Solutions
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Spiral 24
1(6.2D)

Which list shows the numbers in order from least to greatest?

F —g,—l,O,—O.S
5 2

G —1,—0.3,0,g
2 5

H —2,0,—1,—0.3
5 2

J O,—l,—0.3,—2
2 S)

X

© 2017 SpiralEd Solutions
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2 (6.4F)

Edgar completes %of his sit ups in PE. Which shaded model represent

this amount as a percent?

A

© 2017 SpiralEd Solutions
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3 (6.3D)

A teacher wrote this expression on the board.
(-3-5)+(-4)+11

What is the value of the expression?

Record your answer and fill in the bubbles. Be sure to use the
value.

ct place

(ONC>)

OAHDOEOEOO

©@EO@OE OO O
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Spiral 25
1(6.4B)

The prices for different sizes of soda are shown in the table.

Size Cost
16 oz. $.79
20 oz. $
36 oz. .59
48 oz. $1.77

Which amount is the best ?
A 16 oz.
B 20 oz.

C 36 oz. 2
D 48 oz.

© 2017 SpiralEd Solutions
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2 (6.2C)

A student placed the following points on a number line.
Point M at g :

Point N at 24—5

Point P at %

PointQatﬁ.
11

Which point is NOT correctly place
F Point M
G Point N
H Point P
J Point Q

© 2017 SpiralEd Solutions
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3 (6.4H)

A pitcher will hold 7,254 milliliters of liquid. How many liters will the pitcher
hold?

A7254 L
B7254L
C7254L
D 0.7254 L

X

© 2017 SpiralEd Solutions
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Spiral 26
1 (6.7B)
Which of the following can be represented as an equation?
F the product of nine and seven decreased by four
G the product of nine and three is two more than five square
H nine more than twice a number

J seven times fifteen increased by eight

2 (6.4H)

Kyle ran 3% miles in practice. How y yards'di e run?

A 5,280 yds.
B 18,480 yds.
C 1,848 yds.

D 6,160 yds. QV

3 (6.7B

)
Whi the wing is an expression?
F the ix divided by four increased by five
G six.inGreased by two is three more than twelve decreased by seven
ningdivided by three is two increased by one

product of eight and six is twice twenty-four

Spiral 27
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1 (6.7C)
Which pair of expressions is equivalent?
A 2(-3x-4)+3 and -6x-5
B 2(-3x-4)+3 and -6x-2
C 2(-3x-4)+3 and 6x-2
D 2(-3x-4)+3 and 6x+5

2 (6.4B)

Water drains from a swimming pool at a rate 240 g ns per hour. At
this rate, how many gallons will drain in 15 mi

F 3.75 gallons
G 60 gallons
H 18 gallons V

J 3600 gallons

3 (6.7B)

Which of n expression?

Spiral 28
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1(6.7C)

Which pair of expressions is equivalent?
F %(6x—12)+2x and —4x+2

G %(8x—12)—x and 5x -9
H %(4x+6)—2x+3 and 4x+9

J —7—%(5x—15) and 2x +1

2(6.7C)
Which expression is equivalent to odelghown?
v +1
X + | X
-1
A % + 2 B 2(x+1)+3
C L )—2 D %(—6x+2)—3

© 2017 SpiralEd Solutions
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3 (6.4B)

A bag contains red, blue, green, and yellow marbles. Fourteen marbles are
drawn from the bag.

4 red

3 blue

5 green
2 yellow

If the bag contains 70 marbles, predict how many of tk
yellow.

Record your answer and fill in the bubbles. sure to Use the correct place
value.

©
S

® e
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1 (6.2D)

A student buys four different bolts for his construction project. Which list
shows the sizes in order from least to greatest?

A7315 g3751
84 216 4 816 2

5137 p1375
16 2 4 '8 24816

2 (6.3E)

A rectangle has an area of 14% sq inches. length of the

rectangle is 3% inches, what is th

F 4g inches — inches
5 2

H 4 inches J 4.2 inches
3 (6.3E)
The f a rectangular courtyard are 6.8 meters by 9.5 meters.
How meters of grass will it take to cover the courtyard?

4 uare meters B 59.2 square meters

square meters D 592 square meters
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Spiral 30

1 (6.4B)

Water drains from a swimming pool at a rate of 28 gallons per minute. H
many minutes will it take to drain a 1,260-gallon pool?

F 45 minutes

G 35,280 minutes
H 450 minutes

J 35.28 minutes

2 (6.2D)

The table shows the average gasoling,use in gallon for five

models of high efficiency vehicles. ich car gets the best gas mileage?
A B Car D

C CarE D CarB
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3 (6.3B)

A student multiplies a number by each of the numbers below. Which
number will result in a product greater than the original number?

4 7 6 2

5 8 5 3

X ® M

-
WIN gl o/~ Olh

S
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Spiral 31
1(6.4G)

James has a bag containing 12 cookies. He eats 9 of the cookies. What
decimal is equivalent to the fraction of cookies James eats?

A0.75 B 0.9
C 1.33 D75
2 (6.3D)

Which expression has the least value?
F 6+5x(-4)-2

G 3x2-8+(-4)

H(-2+8)x(-4+3)

J4x8-(-6)+3

3 (6.9A)

Coach told Gabri run 36 miles each week. Gabriel plans to run
five days k. Which inequality can Gabriel use to determine
how many e must run each day to reach or exceed Coach’s

plan

A 5m B 7m > 36

D5<36-m
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1 (6.9A)

William has $10 to spend on lunch. He buys a hamburger for $4.85. Whi
inequality can William use to determine how much money, m, he h
available to spend on other items?

F 4.85m<10 G m+4.85<10
Hm+4.85>10 Jm-4.8>10
2 (6.4B)

A bag contains red, blue, green, and yellow bles. SIxteen marbles are
drawn from the bag.

e 4red
e 4 blue
e 5green
o 3 yellow
If the bag contains S, ict how many of them are yellow.
A 20 B 21
C24 D 18
3 (6.3

eacher wrote this expression on the board.
6+(-3+5)+(—4)
Is the value of the expression?
F 1 G -1 H-3 J-2

© 2017 SpiralEd Solutions




SplralEd Solutions

1 (6.5C)

The shaded areas show equal parts of the same whole.

&

Which equality does W shaded areas?
A 20 1

100 5

B 0.20 = 1

C 0.
1
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2 (6.9C0)
Hunter wrote the equation g = 7. Which situation is best represented by

this equation?

F Hunter has x feet of rope. He converts the number of feet intg

G Hunter has x autographed baseballs. When his collectio
his total number of autographed baseballs is 7.

H If Hunter walks at a rate of 3mph, he takes x hoursftc

J Hunter has 7 sets of x number of books in each se des the total
number of books equally onto three shelves.

3 (6.9C)

Landon wrote the ine ' 8 >19. Which situation is best represented
by this inequality?

A Landon has 8
the boys have at
Boston h

B Landon h
dime i o)

e es of candy than his friend, Boston. Together
ieces of candy. How much candy, x, does

f change containing at least 15 coins, all nickels or
coins are dimes. How many coins, x, are nickels?

an uns 8 miles in x minutes. How many miles can he run in 15
minutes

Landon eats x pieces of pizza. His friend Boston eats 8 pieces. Together
s eat 15 or fewer pieces of pizza.
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Spiral 34

1 (6.10A)

Aaliyah needs a rope that is at least 15 feet long. Which inequality
represents all the possible lengths of rope in inches, x, that Aaliya d
F x>180 G x <180

H x>15 Jx>5

2 (6.4F)

The number line represents the amount of wark compl a school
project.

< 0I0 1 1 1 1 1 1 1 1I0 >
Which fraction best represents this‘@amoun
0

Al B
10
2

3

C - D2
3 4
3 (6.
Robe core at least an 85 on his math test. Which inequality
resents all the possible scores, x, that Robert needs?
5

G x<85
H x>85 J x<85
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Spiral 35

1 (6.4H)

Angelina swam 4%mi|es in practice. How many feet did Angelina swim?

A 23,760 ft.
B 7,920 ft.

C 21,120.5 ft.
D 16,390 ft.

2 (6.4G)

Alexandro sells %of his baseball d collection. What decimal is

equivalent to the fraction of his co

Record your answer and fiflin the bub
value.

. Be sure to use the correct place

©@EOOO®OOOO
@EOQOOOOOOO
@OEOQOOOOOOO
@EOOOOOOO
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3 (6.4G)

Bethany gets 23 out of 25 problems correct on her math quiz. What percent
is equivalent to the fraction of problems Bethany gets correct?

A 23% B 90%
C 92% D 108%

X
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Spiral 36
1 (6.5B)

Rochelle correctly answers 25 out of 40 math questions correctly. What
percent of questions does Rochelle answer correctly?

F 62.5% G 50%
H 75.2% J 48.5%
2 (6.5B)

Bailey completes 56 of her 64 home
percent of her homework problem

A 60%
B 87.5%
C 56%
D 72.5%

rk probl ore dinner. What
oes Bailey complete before dinner?

sald, “Write three divided by twelve on your paper.” Which
would the teacher mark as correct?

5 Gsﬁ

H12+3 J 3
12
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1(6.4A)

The number of cookies in a package is described by the rule y =26x .
Which statement describes this relationship?

A There are 26 packages per cookie.
B There are 26 more packages than cookies.
C There are 26 cookies per package.

D There are 26 more cookies than packages.

2 (6.5B)

A fisherman throws back 8 out of the
too small. What percent of fish do

F 60%

fish h s, because they are
e fisherman throw back?

H 66.7%

3 (6.7A)

Kaylee wrote an ession that is equivalent to (32 +4)+9. Which
expressio e the one Kaylee wrote?
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Spiral 38
1(6.7A)

Austin wrote an expression that is equivalent to 15 -3 x2 +1. Which
expression could be the one Austin wrote?

F 22 +2.3 G (22 +2)3
H22.2+3 J 2242 + 3)
2 (6.7A)

Reggie wrote an expression that is equivale . Which

expression could be the one Austin wrote?
A (4°+2)+3
C4%:2-3

3 (6.7B)

A teacher writes §

umbers, operations, and variables form an equation, because only
uations have fractions.

J The numbers, operations, and variables form an expression, because no
equals sign is present.
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Spiral 39
1(6.7C)

Which pair of expressions is equivalent?

A %(4x+6)—2x+3 and —2(2x —3) B 2(-3x—4)+3

C %(6x—12)+2x and 4(x —1) D (x-2)an

2 (6.7D)

Which two expressions are equivalent?
1

. §°(2X_8) (x +5)
(2X — 8)e ~(9)
2
1
y §x+4 X)+4
x 4 4 = (2+x)
_+_
2 2
3 (6.7D)
Whi Xp ions are equivalent?
1
—Xx+4
9
\ 9.5 B ;
. — . ) £+4
2
Cx—(8—3) ID4-6+x
(x—8)-3 4 + X6

© 2017 SpiralEd Solutions

66X —

-4)+3




Spiral@ Solutions

Spiral 40
1(6.7D)

Which expression is equivalent to (3+2)+ x?

F x—(3+2) G (3ex)+(2+x)
H((2+3)+x J 3(x+2)

2 (6.7D)

Which expression is equivalentto x +2+57?
Ax+5+2 1-5 + X
C5+2+x —-x +5
3 (6.4B)

A bag contains red, ellow marbles. Fourteen marbles are
drawn from the ba

e 4re

e .3 blue

2 o)

If the ins 70 marbles, predict how many of them are not yellow
0 G 60
6 J 10
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Spiral 41
1(6.4G)

David uses $4.50 of the $6.00 he has in his pocket to buy a sandwich.
What percent is equivalent to the fraction of his money David uses
sandwich?

A 45% B 60%
C 72% D 75%
2 (6.4G)

Jackson has $2.50. What fraction of a dollar i§ equivalent to the amount of
money Jackson has?

F2 G
2

3 (6.5B) Q

Orlando eats 5 o0 pieees of his pizza. What percent of his pizza does
Orlando e

A 16

B 106
C 6.259
62.9%

N | W

I
N
I
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Spiral 42
1 (6.5B)

When John completed 300 miles of his trip, he completed 25%. What is the
total distance of John’s trip?

F 325 miles
G 120 miles
H 1,800 miles
J 1,200 miles

2 (6.7A)
Anderson wrote an expression that igféquivalent *+(2+3). Which
expression could be the one tha wrote?

A 24 +6
B 2-4-6
C 2.4-6
D 2(4+6)
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3 (6.5A)

The list shows the number of peaches picked from a tree during the first
four days of harvest.

8 24 72 216

By what factor did the number of peaches change each day fro first
day to the fourth day?

F72
G9
H3
J2

O
§
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Spiral 43

1 (6.2B)

Which of the following statements is true?

A The opposite of 121 is -121, and its absolute value is 121.
B The opposite of 256 is -256, and its absolute value is -256
C The opposite of -264 is -264, and its absolute value is 264.
D The opposite of 125 is 521, and its absolute value j

2 (6.7A)

Evan wrote an expression that is equivalent t@y5* + 3)% 7 . Which
expression could be the one that Ev

F2.4-6 1-9)
H4:2-3 =7
3 (6.7D)
Which two gxpresSiong, are’equivalent?
A3(x—4) B4+(x+3)
3. (4+x)+(4+3)
1x+4
D 2 1
4-—x
2
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Spiral 44
1 (6.9A)

Owen plans a 12-day backpacking trip covering 147 total miles. Which
equation can Owen use to determine how many miles, m, he mustgi
each day to complete 147 miles in 12 days?

F12=_"" G m+12 =147
147

H 12m =147 J m+12=147

2 (6.10A)

Maria needs at least 1.5 liters of water for a s€@ience experiment. Which
inequality represents all the possible amounts in milliliters, x, that
Maria needs?

A x>15
C x <1500
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3 (6.10A)

Anthony charges Mr. Gomez $753 every six months to walk his dog twice a
day. He created the model to show the monthly charge, m, for walking t
dog.

$753

What was the Anthony’s monthly rate for dogéwalking?
F $62.75

G $75.30
H $125.50
J $152.50 V
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Spiral 45
1 (6.10A)

Connor plows a rectangular field that has an area of 3.6 acres. The field
divided into four equal sections. Connor plows a section each day.
created the model to calculate how many acres, a, he plowed e day.

3.6 acres

How many acres did Connofjplow ea ay?
A 9 acres

B 4 acres

C 1.2 acres

D 0.9 acre
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2 (6.4H)

The perimeter of a rectangle is 24 cm. What is the perimeter of the
rectangle in meters?

F0.24m
G 0.024 m
H 240 m
J 2,400 m

3 (6.5B)

Edgar saves 20% of his earnings. /fhe saves $22.50, how much does he
earn?

A $112.50

B $45.00 V
C $450.00 Q

D $132.75 §
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Spiral 46
1(6.4G)

Marcus ate 0.4 of a pizza. What fraction is equivalent to the amount of
pizza Jackson ate?

Fl GE
4 5
Hi J§
5 9
2 (6.7A)

Alberto wrote an expression that is ivalent to —3(4 + 2)+ 2. Which

expression could be the one tha

A(-4y
C 4.2+2
3 (6.7D)
Whic 0 expressions are equivalent?
4 - G 9(x +5)
— (4= x) 9(5 + x)
1
x+3) J §X+4
(x+3)-4 L 4
2 2
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Spiral 47
1(6.7A)

Anna had $50. She spent $4 per day for 5 days. Then she was given $1
to split equally between herself and her two friends. She then foun

The following expression can be used to find the amount of mo Ann
had after she found the $5.

50-45+12+3+5

Based on this expression, how much money did Ann after ing the
$5?
Record your answer and fill in the bubbles. B to he'Correct place
value.

OJIC O NIONO)
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Bl[e]f: 'a)” (ON6)
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X
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2 (6.10B) |
Which equation has a solution of 24 for n?

F§n=15
8

Gn+g=§
3 6

H 18n=24
J 0.5n=38.2

3 (6.9C)

Camila wrote the inequalit < 5. Which situation is best represented by

this inequality?

A Camila place
cookies in each

B Camila
stars on eac

C Ca
ore t

into 5 plastic containers. There are at least 8

qually between 8 ornaments. There are at least 5

invitations into 8 equal stacks for mailing. There are no
invitations in each stack.

D ilahas 8 pies and divides each into x pieces. There were are than 5
eces per pie.
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Spiral 48

1 (6.10B)

Which equation has a solution of 6.4 for n?

Fl-_42
6

G 0.5n=3.2

H-48="

BJ in=
5

o~ @l

2 (6.4G)

By April a town receives 1 hes of rain, which is 0.125 of its annual
rainfall. What percentd I'tethef@amount of its annual rainfall the town
receives?

A 1.25% B 12%
C12.5% D 0.0125%
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3 (6.9B)

Mrs. Timmons must maintain at least $225 in her savings account. This can
be represented by the inequality, m > 225 . Which of the number lines

shows the possible solutions to this inequality?
F

[
P 1 1 1 | 1 1 1 1 1
125 150 175 200 225 250 275 300 325 375
G
@ b
< 1 1 1 1 | 1 1 1 1 1 1 >
125 150 175 200 225 250 27 300 325 350 375
H
< O
< 1 1 1 1 1 1 1 1 1 1 1
125 150 175 200 25 250 275 300 325 350 375
J
< 1 1 1 1 1 1 1 >
125 250 275 300 325 350 375
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1 (6.10B)

Spiral@ Solutions

Which inequality has a solution of x < —g for x?

2 (6.3C)

Elaine sketches the dia

X

W% math equation.

..
>
.

NOT model which equation?
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3 (6.7D)

Which expression is equivalent to —9«(x —4)?
A (-9-x)-4

B (-9-4)x

C (=9eX)—(~9+4)

D (-9:x) +(—9+4)

%

X
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Spiral 50
1 (6.9B)

Henry has $20 to spend at the fair. He pays $8 for admission. He uses t

inequality m+ 8 < 20, to determine how much money, m, he has |

spend. Which number line represents the solution for this inequality ?
F
% O
< 1 1 1 1 1 1 1 1
0 4 8 12 16 20 24 28 6 40
G
< ®
< 1 1 1 1 1 1 1 1 1
0 4 8 12 16 0 24 28 32 36 40
H
< 1 1 1 1 T 1 1 1 1
4 8 16 20 24 28 32 36 40
J
®
< 1 1 1 1 1 1 1 1
16 20 24 28 32 36 40
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2 (6.5B)

Amelia completes 45% of her homework before dinner. If 9 problems are
45%, how many total problems does Amelia have to complete?

A 45 problems B 20 problems
C 54 problems D 40 problems
3 (6.11)

Four points are graphed on the coordinate grid.
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Spiral 51

1 (6.10A)

Sarah must raise at least $256 for her cheerleader uniform. She has rais
$137.56. She used the inequality x +137.56 > 256 to determine h
more money, X, she needs to raise. Which solution shows the t

Sarah needs to raise?
A x>118.44

B x>119.56
C x<118.44
© 2017 SpiralEd Solutions
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2 (6.11)
Four points are graphed on the coordinate grid.

y

W
-—®
X
o
®
Zz Y
@
If point Z is moved ty to and six units up, what will be the

coordinates of the ne
F (4, -3)
G (4, -3)
H (-4

J @3, -

© ZU'I/ Spiraled solutions
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3 (6.11)

Four points are graphed on the coordinate grid.

y

to the left and 4 units down, what will be the
t?

If point X is mo
coordinates of th

A (-1, 0)
B (-1

C (O, -
D )
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Spiral 52 |
1 (6.6A)

The graph shows the number of miles hiked based on the time spent
hiking.

Hiking

Which statement
F The nu

GT hotrs is the dependent variable.
H The mperature is the dependent variable.
J ndmber of miles is the independent variable.
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SpiralE
2 (6.6A) |

The graph shows the distance covered in kilometers in relation to the
number of minutes spent swimming.

Swimming

10

Kilometers

30

Minutes

45

is NOT true?

depepds on the amount of time.

Which statement about the ionshi

A The number of Ki @

B The amount e dépends on the number of kilometers.

C The am
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3 (6.2A)

Spiral@ Solutions

Which number is in the correct position?

Rational Numbers

Integers

| 00

Whole Numbers
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1 (6.6B)

The table shows the relationship between g, the number of guests invite
to a party, and n, the number of tables required.

Number
of 16 24 36 4
Guests, g
Total
Number
of Tables,| ° 8 4
n
Which equation represents the rel ip in the table?
1 1
An=—-g-2 =—g+2
5 g 4 g
1
Cn=2g+4 Dn= Zg
2 (6.7D)
Whic 0 expressions are equivalent?
9(x G (6 —x)3
+ x95(9 + 5) (x—6)3
+ 3) J (2:x)+4
X)+3 4 +(24x)
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3 (6.9B)

Amber solved the equation x —(-3) =7 and graphed the solution on a
number line. Which number shows the solution to Amber’s equation?

A

0 1 2 3 4 5 6 7 8

B

< 1 1 1 1 1 1 1 @ 1
0 1 2 3 4 5 6 7 8

< 1 1 1 1 [ ] 1 1 1 1 1 1 1 >
0 1 2 3 4 5 6 7 8 10 1 12

D

< 1 1 1 @ 1 1 1 1 1 1 1 S
0 1 2 3 4 5 8 9 10 1" 12
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Spiral 54

1 (6.6B) The table shows the relationship between d, the number of days a
car is rented, and C, the total cost for the rental.

Number
of Days Total
’] Cost,C

d
1 $300
2 $375
3 $450
4

$5
Which equation represents the relafionship in the table?
G

F C=300d = X+ 299
H C =75d + 225 C=75d

Q\/
K
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2 (6.6B) |

The table shows the relationship between the amount of money remainin
in Josh’s weekly lunch account, m, after he eats lunch each day, d.

Number Money
of Days, | Remaining,
d m
1 $9.00
2 $6.75
3 $4.50
4 $2.

in the table?
= —2.25d
m=11.25-2.25d

Which equation represents the rel
A m=-225d+9
C m=2.25d-11.25
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3 (6.10A)

Aurora drove 234.9miles at an average rate of 52.2 miles per hour. The
equation 52.2x = 234.9can be used to determine, x, how long she droveiin
hours. How long did Aurora drive?

Record your answer and fill in the bubbles. Be sure to use the c t plac
value.
CHONONOHOIRIONO]
O|l0|0|0|0O| OO
Q|00 |
POIB®|G| €|®
@DOID @ RS
OIOIME| |08
® QFO|§ ®®
QN | |D|D
®(®| e HME|®
90|09 (@G
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Spiral 55

1 (6.6C)

The cost of renting a car is $78 per day. Which equation can be used to
find C, the cost in dollars of renting a car for d days?

A C=78d BC=d-78
d

cCCc=—_ DC=d+78
78

2 (6.6C)

Abel is four years younger than his sister, Katéy\VWhicllequation can be
used to find a, Abel’s age, in relatio k, Kate's

Fa=4k
Hk=a-4
3 (6.4G)
The school librari ines that 72% of the books in the school library
are fiction? iOis equivalent to the percent of books in the school
library that a
A 1A B 18
10 25
it p 18
25 20

© 2017 SpiralEd Solutions




Spiral@ Solutions

Spiral 56

1 (6.6C)

The number of pizzas ordered, p, is % the total number of custom

Which equation can be used to find the number of pizzas ord c,
customers?

F p=4c
G p=-4c

2 (6.3B)
A student multiplies a posi whole n er by each of the numbers
below. Which number withte in a psoduct greater than the original
number?

4 7 5 3

5 8 6 2

A

N o N

N|WwWhOo|
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3 (6.6A) N

The graph shows the distance covered in inches in relation to the amount
of time in seconds an ant spends crawling down the sidewalk.

Ant

10 &

Inches

30 45 60 75,

nds

Which statemen
F The nu
G The numb
H Th

he

relationship is NOT true?

is the dependent variable.

nds is the independent variable.
econds depends on the number of inches.

ber of inches depends on the number of seconds.
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Spiral 57

1 (6/4G)

April saves $0.25 of every dollar she earns babysitting. What percent is
equal to the amount April saves of every dollar?

A 2.5% B 250%
C 0.025% D 25%
2 (6.4G)
Benny earns 45% of his money by mowing lawns. What lon is
equivalent to percent of his money Benny eafhs by mawing lawns?
F o
20 5
H2
4

3 (6.5B)

is 60% of the original price. If the sale price is
al price?
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Spiral 58

1 (6.5B)

Raul donates 35% of his savings to a relief fund. If Raul has $520 in
savings, how much money does he donate?

F $182.00
G $1,820.00
H $148.57
J $1,485.7

2 (6.7D)

Which two expressions are equiv t?
9(x +5)
A (5+x)

9 V
%-(2x—8> Q

B

2+(2x —8)
c (2ex)+

4 o X

)
(

—1ex)
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3 (6.7A) |

A on-line spirit shop started Monday with 72 t-shirts to print for sale. On
Tuesday they received a shipment of 4 boxes with 12 t-shirts in each bo
On Wednesday the store sent out 6 orders of 5 shirts each and 4 orders 'of
9 t-shirts each. No other shirts were received or shipped. The foll
expression can be used to find the number of remaining t-shirt

72 + 4412 — 6+5 — 4.9

Based on this expression, how many t-shirts remaine
on Wednesday?

f the day

Record your answer and fill in the bubbles. Be to rrect place
value.

©|0 ©|©
@ |€ oo
@@ 0|@
@|® ®|®
@ I@GPO| @@
6), " SNOINIONE;
®E®®|®| |®|®
QI10|0|0| |@|@
®@10|®|0] |©|0
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Spiral 59

1 (6.7D)

Which expression is equivalent to —2¢(x —3)?

A (—2:x)—(—2:3) B (—2:x)-3
C(x-3)-2 D x«(-2-3)

2 (6.5B)

Elaina has $364.00 and puts 25% of the mo in savings,"how much does
she save?

F $288.00
G $91.00
H $123.00
J $72.80

3 (6.5B)

Eighty-two gercen nd’s 300 baseball cards picture New York
Yankees. of Edmund’s baseball cards picture New York
Yankges?

A28
64
46
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Spiral 60
1(6.7A)

A math teacher asked her class to rewrite this expression numerically,
“three times the square of five increased by ten divided by two.” S r
the correct numerical expression: 3¢5 +10 +2. Which value is ivalen
to Sam’s answer?

F42.5
G 230
H 80

J 53.5

2 (6.7D)

Which expression is equivalent to +4

A 5¢(x +4)

B(5+x)+4 QV
)

C 4«(x+5)
D (5:x)+(5+4

?\
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3 (6.11A)
2 Four points are graphed on the coordinate grid.

y

W
-—®
X
@
®
Z Y
L
If point W is moved its right and five units down, what will be

the coordinates of t
F (-1, -2)
G (-2, -1)
H (2,
J (-2,
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Spiral 61

1 (6.9C)

Leo wrote the equation %x =35 . Which situation is best represe
this equation?
A Leo spent half of his $35 on dinner.

B Leo hiked half of his 35-mile distance on Monday. 17°§miles on
Tuesday and Wednesday.

C Leo drank half of a sports drink, x ounces, protein bar.

D Leo spent half his study time, x, working ofl math. spent 35 minutes
on math.

2 (6.8A)
The two shorter sides of a gle measure 15 cm and 21 cm. Which of the
following could be the e lgngest side of the triangle?
F 30 cm G 36 cm
H 42 cm J5cm
3 (6.
ich e following lengths can be the sides of a triangle?
cm, 5 cm B 15cm, 17 cm, 25 cm
, 18 cm, 31 cm D 12 cm, 11 cm, 25 cm
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Spiral 62

1 (6.8B)

The area of rectangle ABCD is 12 square units. The area of triangle ABClis
6 square units.

ip een which pair of formula?
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2 (6.6B) N

The table shows the relationship between g, the number of guests invited
to a barbecue, and n, the number of pounds of barbecue to be prepare

Number
of 16 24 @
Guests, g
Total
Number
of 18 22

Pounds,
n
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3 (6.8B) |

Rectangle KLMN and Parallelogram EFGH have the same base and
height, and have equivalent areas.

K N

F G

Based on this inform hi ment is true?

F The informati ro that the formula A = %bh can be used to

the ngle, as well as the area of a parallelogram.
The n proves that the area of a rectangle can be calculated
using the\formula A = bh. The area of a parallelogram can be calculated

ing the formula A=bh+ 2(%bh).

J The information proves that the area of a parallelogram and the area of a

trapezoid can be each be calculated using the formula, A = %(b1 +b,)h.
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Spiral 63

1(6.7A)

Eli wrote the prime factorization for 198, but was interrupted before he
finished.

2:3%

What number does Eli need to complete the prime factorizat

Record your answer and fill in the bubbles. Be sure toft
value.

(ONC>)

CXCKCXCXCXC
A © ©

© ©

© e O

©@EO®O®HM® O Q)
@EOOOOOEMO

© @ Q
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2 (6.8B)

The area of rectangle KLMN is equal to the area of trapezoid QRST and

LM = %(or +RS).

These figures mode ationship between which pair of formula?
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3 (6.2A)

Which letter represents the best location for g?

Rational Numbers

Integers

Whole Numbe

w

Aw
B x
Cy

he ber does not belong in this graphic.
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Spiral 64
1 (6.8C)

A rectangular patio has an area of A square feet. The length of the patio
16 feet. Which equation represents w, the width of the patio in fee

FW=A G W=E

16 A
Hw=2(16+A) Jw=A-2(16)
2 (6.4H)

A rock has a mass of 4,250 grams. What is t ass of the rock in

kilograms?

A 42.5kg

B 425 kg

C 0.425 kg

D 4.25 kg Q

3 (6.8C)

imete a

are is P units long. Which equation represents s, the
f the square?
Gs= P

Js=P-4
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Spiral 65 |

1 (6.10A)

Cameron drew a right triangle and measured the base to be 3.6 cm. If th
area of the triangle is 14.4 square centimeters, Cameron can use
equation 14.4 =1.8h to determine the height, h, of the triangl

centimeters.

What is the height of the triangle eters?
A 16 cm B
C8cm VS cm

2 (6.8C)

If one bas zold is 6 inches long, and the height of the trapezoid
isSi equation represents b2, the second base for a trapezoid

quare inches?

5
Gb,=-A+6
Jb =24

5
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3 (6.8D)

The rectangle shown represents the base of a rectangular prism.

7.5cm

6.4 cm

If the prism is 5 cm tall, what is the me of the prism in cubic
centimeters?

A 240 cm?
B 48 cm?3

C 13.9cmd QV

D 69.5 cm?3 ;
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Spiral 66
1 (6.8D)

The rectangle shown represents the base of a rectangular prism.

6.2 in.

5in.
If the prism is 12 cm tall, what is th lum the prism in cubic
centimeters?
b

Record your answer in les. Be sure to use the correct place
value.

@OEODOOOWOOO
@EOOOOOOOO
@OEOOOO®O®OOO
@EOOOOEOO
@EOOOOOOEOO
@OEOOOOOEOO
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2 (6.8D)

James completed the chart below, showing the dimensions and volume of
four rectangular prisms.

Prism Base Base
Length Width
A 12.2 cm 4 cm
B 9.4 cm 5.5cm
C 5.3cm 7.4 cm 329.2 cm?
D 4.6 cm cm 25cm | 39.1cm?
Which prism does NOT h the corr lume?
A Prism A B Prism B
C PrismC D Prism D

3 (6.4D)

ing race with a time of 38.4 seconds for the 100-
at is her average speed in meters per second?

ers per second
ters per second
264meters per second

J 2.6 meters per second
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Spiral 67

1 (6.8C)

The volume of a rectangular prism is V cubic feet. If the length of the ba
is 12 feet, and the height of the prism is 9 feet, which equation rep
w, the width of the base?

2 (6.4G)

A store gives a 24%
equivalent to the pé
military?

F 0.024

G24

H 0.
4.0

it t ers of the military. What decimal is
scount'the store gives to members of the
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3 (6.12B)

The histogram shows the test scores for forty students.

Test Scores

0,60] (69,78] (78,87] (87,96]

CTh ' has no gaps.
D Th - has niform distribution.
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Spiral 68

1 (6.2B)

Which of the following statements is true?

F The opposite of -86 is -86, and its absolute value is 86.
G The opposite of 56 is -56, and its absolute value is 56.
H The opposite of -18 is -18, and its absolute value is -18.

J The opposite of 43 is 34, and its absolute value is

2 (6.8A)

In triangle KLM the measure of angle KLM is 422, andfthe measure of angle
MKL is 57°. What is the measure of @ngle LMK i grees?

Record your answer and fill in th S. sure to use the correct place
value.

CECECICKCECECECKOXC,
CESICECECECECXOXC,
CECESICKCECECICKOXC,

@OEOOO®OOOO

©@OEOOO®OOOO
@EOOOO®O®OO
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3 (6.12B)

Spiral@ Solutions

The histogram shows the weights of ten students.

Student Weight

[80, 85.6] (85.6,91.2] (96.8, 102.4] (102.4, 108]
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Spiral 69
1 (6.12B)

The dot plots show the ages of students enrolled in two different driver's
education programs.

Program A
e o
e © o
e © [ J
e O ®
<& 1 | 1 1 1 1 >
12 14 16 18 20 24
Program B
[
o [ J
e O o
< 1 1 1 1 1 1 >
12 14 16 20 22 24

Which statement is true?

A The graph for Program spread than the graph for

Program B.
B The graph for Pr: uniform than the graph for Program A.
C The graph for ra has a greater spread than the graph for

Program
D Both of th

?\

re symmetrical.
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2 (6.12A)

Amberly matches the histogram to the stem-and-leaf plot.

Test Scores
Stem Leaf
8

Test Scores

o]

w O
o @

cCwoo~NOOOPAhWN
COCRANORARNOSN
ok~ OOWO PNO
ChRrOoOOPRANO

O 00O P~OOD

-

KEY
5|12 =52

Which statement is true?

d-leaf plot. Each score in the
tem and leaf plot.

F The histogram matches the ste
histogram corresponds to a scor

G The histogram does not match the nd-leaf plot. There are 38

scores represented in the gram forthe forty scores in the stem and
leaf plot.

H The histogram m e stem-and-leaf plot, except for the period 55-
64.

J The histogram t match the stem-and-leaf plot. There are 6 scores
in the peri 64"on the histogram, while there are 9 scores on the
stemand lea

> LU 11 opMlIdILLuU QUIlUUvI D
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3 (6.6A)

The table shows the relationship between the amount of money in Jaso
savings account and the number of months he has been saving.

Jason’s Savings Account

Number | Amount
of of

Months | Savin
1 $7
4 $30
8 $600
1 75
12

Which list shows the e ities in the graph?

A1,4,8,10,12
B 1, 75,4, 300
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Spiral 70
1 (6.12B)

The stem and leaf plots show the weights of students in two sixth grade
classes.

Class A Class B
Student Weight Student Weight
Stem | Leaf Stem | Leaf
8 4 5
9 13 6
10 38 9
KEY
5|2 =52

Which statement is true?

F Class A has a greater spr s B.

.

ite peak that Class B.

G Both graphs are
H Class A has
J Class A has a

-pound range.

orm distribution that Class B.
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2 (6.3A)

Which statement is NOT true?

A12+4:12-1:3
4

B 16+i=16-§=20
S} 4

C15:2-15.2 =9
3 5

D 15+4=15-%:60

3 (6.7A)

Which of the following prime facto ns creates the largest number?
F 2°.3:5

G 2°.3:5°

H 2°.3%5
J 22.3%5° §§
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Spiral 71
1(6.12A)
The stem-and-leaf plot records the weights of nine sixth graders.
Student Weight
Stem | Leaf
10( 0 2 3
11| 2 2 6 8
12| 1 5
KEY
5|2 =52

Which set of data matches the stem and leaf plet?
A 100, 102, 103, 112, 113, 116, 1
B 100, 102, 112, 112, 116, 118,
C 100, 102, 103, 112, 1124116, 118,
D 100, 102, 103, 112, 11611 5
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2 (6.12A)

The histogram shows the weight ranges of nine sixth grade stude

Student Weight

[80, 85.6] (85.6,91.2]

Which of the weights below coul
in the histogram?

one of the weights represented

F 96% pounds

G 80% pounds
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3 (6.9B)

Lincoln solved the equation % = —2 and graphed the solution on a numb

line. Which number line shows the solution to Lincoln’s equatio
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Spiral 72
1 (6.4E)

Eighty-two percent of sixth graders pass the end of year math exam. Ho
is this amount written as a fraction?

£ 20 68
25 2
H S J “
50 50
2 (6.8B)

Nick measures the dimensions of t
area of triangle EFG plus the ar
rectangle EFGH.

igure below and determines that the
i@ngle HGF equals the area of

F H

Nick’ nts confirm the relationship between which pair of
ul

=bh"and Angh B A=bh and A=%(b1+b2)h

CA=%(b1+b2)h and A=%bh D A=bh and V =bh
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3 (6.13A)

The graphs show the ages of members of two swim teams.

Dolphins
o ® ®
e O o L @
1 1 1 1 1 1
° 12 14 16 18 20 22 24
Stingrays
L
e o
® .. o .. ® o

20 22 24

18
Which statement is true?
F Dolphins have a greater age rafige t the Stingrays.
G The mean age of the Stingrays is t the mean age of the
Dolphins.
H The mode of the D Vter than the mode of the Stingray
data.

J There are mor immers on the Dolphin team than on the Stingray
team.

?\
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Spiral 73
1(6.14A)

The table shows the monthly fees for the checking accounts at two bank

Checking Account Fees

Bank Monthly Fee

C $15

first six mont
D $20 per ma
first six

Which statement is best supported he igformation in the table?

A The annual cost of an ac nt at Bank D will be less than the cost of an
account at Bank C fo t rg4and more in future years.

B The annual cost
annual cost of a

C The an
annual cos

D Th

ount at Bank C will always be less than the
count at Bank D.

account at Bank C will always be more than the
ount at bank D.

of the two accounts is the same.

eV UNMITUIILU UVITUUVIT Y
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2 (6.13A)

The dot plot shows the ages of students on the varsity golf team.

12 14

>r00 00
= 1 X J

«

20 22

Which statement is NOT true?
F There are eleven members of the varsity golf team

G The mean of the data is two less than the median.

O
§

© 201/ Spiraled Solutions

H The range is two.
J The median is 17.




SpiralEd Solutions
3 (6.12D) -

A bag contains colored chips. The percentage of each color is shown in
percentage bar graph.

Which table could be represented by the perc

A B
Color | Number ologf{ Number
Red 20 ed 25
Blue 1 Blue 5
Green Green 15
C D
Color | Number
Red 12
Blue 18 Blue 21
Green 20 Green 17
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Spiral 74

1 (6.14C)

The check register shows Drake’s balance at the beginning of the day o
March 18.

Deposits Withdrawal

Date Description (dollars) (dollars)

$425.87

3/18 | deposit
3/18 | cash withdrawal
3/18 | transfer

transfers $50 from
rake’s balance at

During the day Drake deposits $45, withdra
his checking account to his savings agcount.
the end of the day?

F $336.87
H $386.87

2 (6.2C)

A student correct

the numb be
% ber will be located closest to -73.07?

C-74.8
D-72.44

e numbers -72.6, -73.5, -74.8, and -72.44 on

1 1 1 5
>

-73.0 -72.0
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3 (6.12D) N

A bag contains colored chips. The percentage of each color is shown in
percentage bar graph.

Which table could be represented byfthe percentage bar graph?
F

Color | Number r | Number
Red 20 Red 25
Blue Blue 5

Gree Green 20

J
Number Color | Number
12 Red 12
Blue 18 Blue 21
Green 20 Green 17
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Spiral 75

1 (6.14A)

The table shows the monthly fees for the checking accounts at two bank

Checking Account Fees

Bank Monthly Fee

R $15

If a customer plans to mai
years, while attending cg

at a local bank for only four
e least expensive option?

A Bank S will be thegde option no matter how long the
customer maintains

B Bank S is less

C Bank R
how long the

D Aft

expensive option after the first year, no matter
r maintains the account.

the accounts cost the same annually.

© 2017 SpiralEd Solutions




Spiral@ Solutions

2 (6.11)

Points W, Y, and Z form three vertices of a rectangle.

y

Which ordered
of the rectangle”

F(1,4)

G (-1

H (4,
4, 1)

ents the coordinates for point X, the fourth vertex
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3 (6.12A)
Roman constructed the dot plot below.
®
® ° )
A S+ b . e “®
b 12 14 16 18 20 22 24

Which set of data did Roman use to construct the dot plot?
A 13,13, 15,15,17,17,17, 18, 20, 21, 23
B 13, 13, 14,15, 17,17, 17, 18, 20, 20, 23
C 13,13, 13, 15,17, 17, 18, 18, 20, 20, 23
D 12, 13, 14,15, 17,17, 17, 18, 20, 20, 22

O
§
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1 (6.4C)

A bag of 24 buttons contains

* 6 red buttons

» 12 blue buttons
» 2 yellow buttons
» 4 green buttons

Which statement is true?

F The number of blue buttons is 2 more than t mk buttons.

G The number of red buttons is 3 times the number of@ellow buttons.

H The number of yellow buttons is 14 es the r of blue buttons.

J The number of blue buttons is e number of red buttons.

2 (6.14E)

Mr. James gets a c edit report before applying for a loan to buy a
new house. Whigfjinformation would not be included in the report?

A the amo
B Mr. Jame
C the

list'@f anyone who accessed Mr. James credit history in the past two

spent on their trip to an amusement park
ecurity number

nce and payment history on all credit card accounts
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3 (6.13A)

James recorded the high temperature for two weeks.

" 60 65 70 75 8 85

He came to the following conclusions:

e The mean temperature is 71.57°F.

e The most common temperature is 72°F.
e The median temperature is 72°F.

e The range is 8 degrees.

Which of James’ conclusions is incorrect?

F The mean temperature is 71.57 %
G The most common temperature
H The median temperaturefis 72°F.

J The range is 8 degr,
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Spiral 77
1(6.14G)

Baker is a high school senior and just received notice that he has receiv
a grant and loan approval for college. What is the primary differen
between a grant and a loan?

A The loan will have to be repaid, and the grant will not.
B The grant will have to be repaid, and the loan will not
C The grant will require Baker to get a job on campu

D The loan will require Baker to volunteer on c S¥

2 (6.6C)

ch ation can be used to determine
p players?

Team uniforms cost $125 each.
the total cost, C, of ordering unifo

FC=p+125
G p=125C V
Hp ¢

125
JC=125
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3 (6.8D) -

Alicia completed the chart below, showing the dimensions and area of four
rectangles.

Rectangle | Length
A 12.2 cm
B 9.4 cm
C 5.3 cm
D 4.6 c 3.4cm [15.64 cm?
Which rectangle is shown with the cor rea?

A Rectangle A
B Rectangle B
C Rectangle C
D Rectan
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Spiral 78
1(6.12C)

The list shows the height, in feet, of giant redwood trees, the tallest tree
on Earth.

350, 329, 351, 345, 342, 348, 338, 356, 345
What is the mean height of the trees?
F 345
G 342.6
H 310.5
J 350

2 (6.14F)

A student is asked to list benefits of eport to a borrower. Which of
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3 (6.12D)

Students were asked to vote for their favorite cookie. The table shows the
survey results.

Cookie | Number
Sugar 12
Peanut
Butter 18
Chocolate
Chip 30

Which percentage bar graph represents the d theata

F
_ Peafut Butter ocolate Chip

1
0 10 20 30 40 60 70 80 90 100 %

Chocolate Chip

1
60 70 80 90 100 %

Chocolate Chip

1
60 70 80 90 100 %
Peanut Butter Chocolate Chip
0 10 20 30 40 50 60 70 80 20 100 ~ %
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N
Spiral 79
1 (6.14H)

Helen researched career opportunities, average salaries, and required
education. She compiled her findings in the table below.

Occupation Average Salary
Administrative Assistant | $36,435
Registered Nurse $61,734
Statistician $67,324
Physician $193,310

B The more education a person h
C There is no relationship ietween ed lon and earning potential.

D The cost of higher i0 tweighs the benefits of a higher degree.
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2 (6.13A)

The box plot summarizes Maria’'s math grades.

<

70 80 90
Which statement best describes the data represented in the
F The median score is 82.5.
G The range of scores is 15 points.
H Half of Maria’s scores are greater than 88.

J The interquartile range is 6.

3 (6.2E)

Which of the following stat@ments is rue?

25 ,
A55)2525.Q
o1

82ﬁ=172_2

© 2017 SpiralEd Solutions
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Spiral 80

1(6.13B) 1

Which of the following situations would yield the most variability in the d
collected?

F A survey asks students to pick their favorite number.
G Students total the number of dots on a pair of six-sided d

H Students calculate the number of ounces in five cups

J Students calculate the number of miles driven in 3. a rate of 55

miles per hour.

2 (6.13B)

Which of the following situations w yieldfthe least variability in the data
collected?

A Students calculate i al ber of miles driven in a week by 25
teachers.
B Students calc umber of miles driven by one car in 2.5 hours at

the’average daily high temperature for each month of

the number of students absent from school each day
ra week period.
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3 (6.8A)

In triangle KLM the measure of angle KLM is 40°, and the measure of angle
MKL is 105°. What is the measure of angle LMK in degrees?

Record your answer and fill in the bubbles. Be sure to use the corr
value.

CHONONOHOIRIOHO,
SHONO O ORI
Q|0|0|0| |@
@|®|0|03 ®
OO} OO, @
®|®|0|®
®e® ® ®
@ a @
® 211®®
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Spiral 81
1(6.2B)

Which of the following statements is true?
A The opposite of -277 is 727.

B The absolute value of 429 is -429.

C The opposite of -103 is 103.

D The absolute value of -99 is -99.

2 (6.2C)

E, —§ , ——, and _ﬂ on the
7 3 16

A student correctly labels the num

number line below.

o | 1 1 1 1 1

1.0

Which number will b
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3 (6.2A)

Which letter represents the correct location for—% ?

Rational Numbers

Integers

Whole Numbe

w

Aw
B x
Cy

he ber does not belong in this graphic.
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Spiral 82 |
1(6.2D)

Ella estimates that the length of her foot is 24 cm. Which of the following
numbers is closest to Ella’s estimate?

F 23.09 cm G 24.41 cm
H 23.68 cm J 24.86 cm
2 (6.2E)

James has twenty pieces of candy to share equally amiong himself and four
friends. Which expression does NOT equal t mount'of candy each
person receives?

A 5)20

3 (6.3C)

A math tut er Students the model below.

del does NOT represent which of the following operations?
2 G -3+(-3)
H 2x(-3) J 3x(-2)
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Spiral 83

1 (6.3E)

Two hiking trails lead to the bottom of the Grand Canyon. One trail j

miles long. The other trail is g as long as the first. What is th

second trail?

A 6 miles B 61 miles
2 . :
C 65 miles D 64 miles
2 (6.3D)
A teacher wrote this expression o oa
7

28 (-
What is the value er

F 40 G 50
H 44 J 37
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3 (6.3A)

To divide a number by —2%, you can multiply the number by which of th

following?
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Spiral 84
1 (6.3B)
Which of the following statements is NOT true?

F §x24>24

G 30x.>30
5
HZx12512
3
J81x 2 < 81
9

2 (6.4C)

A bag of 24 buttons contai

buttons
2 yeIIow buttons
e 4 green buttons
Which sta
A Thinumb buttons is 2 more than the number of red buttons.

B The red buttons i |s — tlmes the number of yellow buttons.

helhumber of yellow buttons is % times the number of blue buttons.

D The number of blue buttons is 2 times the number of red buttons.
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3 (6.4D)

A rancher buys a 60-pound sack of feed for $24.00. What is the cost per
pound?

Record your answer and fill in the bubbles. Be sure to use the corr
value.

CHONONOHOIRIOHO,
SHONO O ORI
Q|0|0|0| |@
@|®|0|03 ®
OO} OO, @
®|®|0|®
®e® ® ®
@ a @
® 9 ®
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Spiral 85
1(6.4B)

A bag contains red, blue, green, and yellow marbles. Sixteen marbles a
drawn from the bag.

e 4red

4 blue

5 green
3 yellow

If the bag contains 45 green marbles, predict how man 5 are in the

bag.
A 144
B 210

C 214
D 120
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2 (6.4A) |

Look at the table below.

Which statement is true about the data in the

F The value of y can be represented by a fungtion in the form y = ax,
because each y-value is a times as large as t onding x-value.

G The value of y can be represen
because each y-value is a more

by a function in the formy = x + a,
corgesponding x-value.

H The value of y can be represented
because each y-value is_g

nction in the formy = ax,
corresponding x-value.

J The value of y cag
because each y-ual

@ ese by a function in the formy = x + a,
< times as large as the corresponding x-value.
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3 (6.5C)

The shaded areas show equal parts of the same whole.

Which equality correctly represents shafled areas?

A25%=22 _6
100 25

B 22% = 22 _
100

C 25%—

D 24
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Spiral 86 |
1 (6.4E)

Sixth graders at Middleton Middle School show a 23.5% increase in test
scores. How is this written as a decimal?

F 23.5 G235
H 0.235 J 0.0235
2 (6.4F)

The number line represents the percentage @i sixth graders taking theater
as an elective.

v

>

1
100

Which decimal best represents this
A0.2 B ©:3
C0.25 2.5

In th ' ths of a baby’s life his weight increases by 210%. What
' ivalent to the percent a baby’s weight increases in the first

G 2.01
1 J21

© 2017 SpiralEd Solutions




Spiral@ Solutions

Spiral 87

1 (6.5B)

Fifty-one percent of emergency room visits are due to falls. If 2,400 peo
visit the emergency room, how many of those visits are due to falls™

A 1,422
B 1,242
C 2,142
D 1,224

2 (6.7A)
Which of the following prime factotizati creates the smallest number?
F 2°.3.5

H 2°.3%:5

3 (6.7B)

Which of the followingui T an equation?
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Spiral 88

1(6.7C)

Which pair of expressions is equivalent?
F %(4x+ 6)-2x+3 and -2(2x - 3)

G 2(-3x-4)+3 and 6x+5

H %(6x—12)+2x and 4(x —1)
2 2
J _7+§(_5X_15) and —7—5(5x—15)

2 (6.7D)
Which expression is equivalent t0%2.4 7 +£4.33)7

A 3.4+(5.7 + 4.33) 4.33+43.4+5.7)
C (2.4+5.7)-4.33 D (2.4+5.7)+4.33

3 (6.9A)
A wrestler t least 27 pounds in two weeks to meet his weight
goal mat ch equation can he use to determine the number of
poun t lose each day to meet or exceed his goal?
G14< P
27
J14< 27
p
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1 (6.9C)

Claire wrote the equation 8 — x = 2. Which situation is best represented
this equation?

A After hiking 8 miles of her x-mile hike, Claire had 2 miles re

B Claire hiked her x-mile hike at a rate of 8 miles every 2 h

C After hiking x miles of her 8-mile hike, Claire had 2 g ing.
D Claire hiked her 8-mile hike at a rate of 2 miles ea¢ days.
2 (6.10A)

s. He can use the equation 50 =r x 8

Max ran the 50-yard dash in 8 sec :
segond. What is Max’s rate in yards

to determine his rate, r, in yards
per second?

F 6.5 yards per second 5.75 yards per second
H 7 yards per secon J 6.25 yards per second

3 (6.10B)
. \ ) 7
Whi uati as a solution of E for n?
5
+ J—
3 \\6
4

B -—-n=15
8

!
15

D-48="
3
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Spiral 90

1 (6.9B)

Savannah solved the equation 4 =g and graphed the solution on

number line. Which number line shows the solution to Lincoln’ tion?

F

< 1 1 1 1 1 1 1 1 1
10 8 6 4 ) 0 2 4 8 10

G

< 1 1 1 1 1 1 1 1 1 1
10 8 6 2 0 2 4 6 8 10

H

< 1 1 1 1 1 1 1 1 1 1
10 8 6 4 2 4 6 8 10

J

& 1 . 1 1 1 1 1 1
-10 -8

) ﬁ 0 2 4 6 8 10

8
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2 (6.11)

Points W, Y, and Z form three vertices of a rectangle.

y

N
<

B (-1, -4)
C 4,
4,1

Which ordered pai @ ts the"coordinates for point X, the fourth vertex
of the rectangle
A (0, 4)
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3 (6.6A) |

The table shows the relationship between the total cost of camping and the
number of nights spent camping.

Camping Fees

Number
of 1 3 6 8
nights

Total
ot $20 | $60 | $120 @

Which statement about the relationship is NQI true?
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1 (6.6B)

The table shows the relationship between r, the number of roses

Spiral@ Solutions

purchased, and C, the total cost of the roses.

Nur:fber Total
Cost,C
Roses, r
1 $5.50
4 $14.50
8 $26.
12 $38.5

Which equation represents the re
AC=3r+25
CC=55r
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2 (6.6C)

The graph shows the total cost, y, for movie tickets, based on the number
of tickets purchased, x.

Movie Tickets

40

w
N
L 4

N
i
L

Total Cost

16 L 4

ts the relattonship between x and y?
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3 (6.14A) -

The table shows the monthly fees for the checking accounts at two banks.

Checking Account Fees

Bank Monthly Fee

W $10 per month

free checking for th
first three mo ;

What information can the custo
the better option for him?

A After 18 months the two
B Up to 12 months, B
C Up to 18 months;
D Up to 24 mont

is theless expensive option.

is the less expensive option.
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Spiral 92
1 (6.8A)

In triangle ABC the measure of angle ABC is 77°, and the measure of angle
BCA is 42°. What is the measure of angle CAB?

Record your answer and fill in the bubbles. Be sure to use the place
value.
Y ONOHONOIRIONO,
O|0|0O(0|0]| |®L@
Q|00 &N
OO OIMICN©)]
@OIB@ |
OO O |0|®
® @ ®|®
@ 49, @
O,
© © ©)
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2 (6.8B)

Amelia measures the base and height of each figure below and determines
they have the same area.

Q T

Amelia can use information to demonstrate the relationship between

B A =%(b1+b2)h
and A =bh

D A=%(b1+b2)h and A =bh
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3 (6.14C) N

The check register shows Becca’s balance at the beginning of the day on
March 1.

Deposits Withdrawals

Date Description (dollars) (dollars)

3/1 phone bill
3/1 electric bill
3/1 paycheck
3/1 rent

for $1,239.00. What is Becca's balance at the
F $4,755.14
G $3,428.59
H $1,298.34

J $5,994.14 QV
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Spiral 93
1 (6.8C)

The area of a triangle is A square centimeters. If the height of the triangl@iis
6 centimeters, which equation represents b, the base of the triangl

w >
o o
[ I
>
+
o

(@]
o
[
Wl o> NI-=

D b=3A

O
§
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2 (6.8D) |

Ben completed the chart below, showing the dimensions and area of four
rectangles.

Rectangle Length Width Area

A 15.4 in. 41.2in.

B 17.3 in. 24.6 in.

C 25.6in.

D 3251 1803.75 in?

Which rectangle is NOT sh with the'eorrect area?
F Rectangle A
G Rectangle B
H Rectangle C

J Rectang
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3 (6.14H) d

Ellen is interested in studying medicine after high school. She researches
varies jobs in the medical field and creates the table below.

Occupation Average Salary Educatio ed
Medical Records Clerk | $31,960 high schaeehdiplom
Licensed Vocational $58,070 q@

Nurse

Lab Technician $61,070 certifi
Registered Nurse $61,734

Physician’s Assistant $98,764

Physician $193,310

$20,000.
C Registered Nurse

D All jobs in me Juire at least a four-year degree.
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Spiral 94
1(6.12C)

The list shows the height, in feet, of giant redwood trees, the tallest tree
on Earth.

350, 329, 351, 345, 342, 348, 338, 356, 345
What is the median height of the trees in feet?
F 345 feet
G 344 .4 feet O

H 310.5 feet
J 350 feet

2 (6.12B)

ores of nine students.

or the tes

The boxplot represents da

1
90 100

baxplot is skewed left.
Thefboxplot is skewed right.
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3 (6.14E)

A car dealer requests a current credit report for Mr. Swenson before
making him a car loan. Which of the following information will be included in
the report?

F Mr. Swenson’s Social Security number
G the amount Mr. Swenson owes on any credit card accoun
H Mr. Swenson’s date of birth

O
§

© 2017 SpiralEd Solutions
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Spiral 95
1(6.12A)
The stem-and-leaf plot records the weights of nine sixth graders.
Student Weight
Stem | Leaf
8 4 5
9 1 3 6
10 3 8 9
KEY
5|2 =52

Which set of data matches the stem andieaf plot*
A 84, 85, 91, 93, 96, 103, 108, 109
B 84, 85, 90, 93, 97, 103, 108, 1
C 84, 85, 91, 93, 96, 102, 108, 10

D 84, 85, 91, 92, 96, 103, %
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2 (6.13A)

The box plot summarizes the daily high temperature for Austin, Texas for
the month of April.

— F—

1 1 1 1 1 1 1 1 1 1 1 1 1
<

70 80 90

Which statement best describes the data represented i
F The median temperature is 84°F.

G The interquartile range is 16.

H The maximum temperature is 90.5°F.

J The daily high was below 82°F for more tha If thé’month.

3 (6.14G)

Alberto is using seve
payment will have {@

& 0 ay for college. Which method of

A grant
B loan
C scholarshi

D sa
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Spiral 96

1 (6.12D)

The dot plot shows the fruit each student chose for a snack.

o
o ®
o @ @
® [ o
@ @ @
apple | orange | banana
Which percentage bar graph represents the In the ?
F
anana
1 1 1 1 >
70 80 90 100 %
banana
1 1 1 1 S
70 80 90 100 %
orange banana
1 1 1 1 1 1 1 >
40 50 60 70 80 90 100 = %
orange banana
< 1 1 1 1 1 1 1 1 1 1 1 >
0 10 20 30 40 50 60 70 80 90 100 %
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2 (6.12B)

The boxplot represents data for the test scores of nine students.

—t ¢

70 80 I | I I 9I0 I I I 1(|)0
Which statement is NOT true?

A The boxplot shows outliers at both ends.

B The boxplot is symmetrical.

C The boxplot is not skewed.

D The median of the data is located halfway Between the minimum and
maximum score.

3 (6.5C)

The shaded areas sho:?Wt e same whole.

hich equality correctly represents
the shaded areas?

F36%- 0 9
100 25
G 38% - 20 _ 9
100 25
o
100 24
J|24%:&:£
100 25
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Spiral 97

1 (6.12D)

The dot plot shows the ages of students taking an online math

o
o ° °
[ ) o o @ o o
1 1 1 1 1
- 12 14 16 18 20

What is the mode of the data?
A 17

B 23

C17.2

D 20

X
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2 (6.12D)

The stem and leaf graph shows student grades on a math quiz.
Quiz Scores

Stem Leaf
8 Z 3
9 39
10 0

4 56
9

KEY
52=052

What is the most common score?
F 86
G 93
H 18
J 99

X

© 2017 SpiralEd Solutions




SpiralEd Solutions
3 (6.14H) -

For a class project Jake researched jobs in medicine. The information he
gathered is shown in the chart.

Occupation Average Salary Educatio ed
Medical Records Clerk | $31,960 high schaeehdiplom
Licensed Vocational $58,070 q@

Nurse

Lab Technician $61,070 certifi
Registered Nurse $61,734

Physician’s Assistant $98,764

Physician $193,310 octoral degree

How much more will a Registered Nurse garn over a ten-year period than a
Licensed Vocational Nurse?

A $3,664.00

B $366,640.00
C $36,640.00 Q

D $366.40 §
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Spiral 98
1(6.11)

The coordinate grid shows four points.

y

Which ordered pair represents a%\lOT in the same quadrant as
point Z?

F (-3, -8)

e §V
?\
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2 (6.11)

The coordinate grid shows four points.

y

Which ordered pair represents af@eint that is NOT in the same quadrant as
point Y?

A (3, -8) (2, -4)

C (5, -3) D (-4, -6)

3 (6.12C)

The | e height, in feet, of giant redwood trees, the tallest trees

350, 329, 351, 345, 342, 348, 338, 356, 345
range of the tree heights?

G 18
H 27 J 345
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Spiral 99

1(6.12C)

The list shows the mass in grams of five rock samples.
18.2, 19.4, 26.8, 22.6, 18.0

What is the mean of the data?

A 26.8

B 21

C 8.8

D 23

2 (6.12C)

The dot plot shows the ages of s king a driver’'s education course.
o
o o

- 12 14 20 22 24 -

What is the median
F 18
G 18.1

H1
J 17.
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3 (6.12C)

The boxplot represents data for the weights of sixth grade students.

70 80 90 100
What is the median of the data?
A 82.5

B 82
C 85

X
§V
v
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Spiral 100
1(6.11)

The coordinate grid shows four points.

y

Which ordered pair represents a%n the same quadrant as point
w?

F (-3, -8)

G (-2, 4) V
H (5, 3) S

J (4, -6)

?\
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2 (6.6C)

Karen is four years younger than her cousin, Ben. The graph shows the
relationship between Ben's age, y, and Karen'’s age, x.

Age Relationship

Which equatien‘hestirepresents the relationship between x and y?

Ay
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3 (6.8D)

Daneya measured the isosceles triangle below.

She determined that the length of the base is{40 cm, the height is 12 cm,
and the length of each side is 13 cm. MWhat is t of the triangle?

Record your answer and fill in th
value.

. Be sure to use the correct place

@OEO@POO®O®EE O
CEICECECECECXCXC,
CECESICKCECKCICKOXC,

@EOOO®OOO

@EOOO®O®O
@EOOO®O®OO
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Spiral 101
1 (6.12C)
The list shows the mass in grams of five rock samples.
18.2, 19.4, 26.8, 22.6, 18.0
What is the median mass?
A 26.8
B 21
C38
D 194

2 (6.13A)
7

The school auditorium seats 250 people. box plot summarizes the
attendance for the fall the producti

he @ttendance was greater than 220 for all but 6 nights.
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3 (6.13A)

The ages of the teachers in Smithville Middle School is represented by the
stem-and-leaf plot.

Teacher Age

Stem | Leaf
2| 2
3| 2
41 1

[

4 57
4 6 8

KEY
5|2 =52

Which statement best describes th ta represented in the stem-and-leaf
plot?

A The median age is 35.

B The mean age is 35.

C Thirty percent of th er ver 45.

D Thirty percen
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Spiral 102
1(6.12D)

The stem and leaf plot shows the weights of 9 Great Dane dogs.

Great Dane Weight

Stem Leaf
8

What is the mode of the data?
F 83

G 25
H 92

: QY
S

0
- N O
AONDN
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2 (6.12D)

The animal shelter kept a record of the animals adopted over a three-

SplralEd Solutions

month period.

Which relative frequency table corresponds t

A
Number
Animal of
Adoptions
dog 54%
cat 28%

12%

60

r

Adoptions

33.8%

13.4%

rse 32.7%
other 20.1%

Number
Animal of
Adoptions
dog 126
cat 98
horse 39
other 27
he dat
B
Number
im of
Adoptions
g 44%
cat 32.7%
horse 12%
other 11.3%
D
Number
Animal of
Adoptions
dog 43.4%
cat 33.8%
horse 13.4%
other 9.3%
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3 (6.13B)

Which of the following situations would yield the most variability in the data
collected?

F A scientist measures the amount of water in a beaker in milliliter

G A scientist calculates the time it takes one snail to travel 12

H A scientist calculates the growth rate for twenty different
plants over 15 weeks.

J A scientist counts the number of test tubes availab
annual inventory.
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Spiral 103
1(6.13B)

Which of the following situations would yield the most variability in the d
collected?

A During one annual physical a doctor records a patient’s te
B During one annual physical a doctor records a patient’s we

C During each annual physical a doctor measures thg
from age 21 to age 40.

D During each annual physical a doctor mea e
from birth until age 18.

ghigot a patient

2 (6.10A)

Gabriella measured the length of on
perimeter of the square to B8,27.2 cen

a square, and determined the
ters. What is the length of the

side of the square, x, i timeters,df?4x =27.27
F54cm G 8.2cm
H 6.8 cm J6.4cm

3 (6.

Bella he length of one side of a hexagon, and determined the
imetek of the hexagon to be 34.8 inches. What is the length of one side
exagon, X, in inches, if 6x =34.87

5 ches B 5.8 inches
C 4.8 inches D 6.2 inches
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Spiral 104
1(6.11)

The coordinate grid shows four points.

y

If point W is translated five units %units to the right to create
W;? Which ordered pair is e same Quadrant as W;?

F (-3, 8)

G (-2, -4)
H (5, 3)
J (4, -6)

Y LU 11 oplidlillu uIluuvI i
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2 (6.6C)

A medium single-topping pizza costs $8.00. The graph shows the
relationship between, y, the cost of pizza, in relation to x, the number of
pizzas purchased.

Pizza Cost
48

s
1=}

w
¥}

Total Cost
~
B

Which equation best repregents the r: ship between x and y?
Ay=x+8

B y=8x+1

C y=8x
X
Dy==
Y3
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3 (6.10B)

Which equation has a solution of 64 for x?
F -3.6x=72
X 2

1
1

3

H x=—E
3

—+
6

J3x-24
8

%

X
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Spiral 105

1 (6.2D)

Jodi estimates that the length of her foot is 26 cm. Which of the following
numbers is closest to Jodi's estimate?

A 25.09 cm
B 25.41 cm
C 25.68 cm
D 26.96 cm

2 (6.2D)
Adrian is thinking of a number be 46.08 and 47.3. Which of the
following could be Adrian’s number?

F 46.032

G 47.01 ;
H 47.401
J 45.98
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3 (6.13A)

The number of pounds of peaches picked by 8 workers are represented by
the stem-and-leaf plot.

Pounds of Peaches

Stem | Leaf
8 4 5
9 13 6
10 38 9

KEY
52 = 52

Which statement best describes the a resented in the stem-and-leaf
plot?

A Twenty-five perce w picked less than 90 pounds of
peaches.

B The median n
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Spiral 106
1(6.12C)

The list shows the mass in grams of five rock samples.
18.2, 194, 26.8, 22.6, 18.0
What is the range of the data?

Record your answer and fill in the bubbles. Be sure to use th ct place
value.
Y ONONHONO; ©
O|l0|0|0|® ®©
@0|0|®@
OO)I€ (6]
o|@fo|a ®
OB | 1®|6
®|® | O ®
@ @ @
BR |@B
@ |C ©) ©)
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2 (6.12D)

Students voted for their favorite pet.
Pet Votes
dog 8
cat 6
fish 2
bird 2

other 3

Which relative frequency table corresponds t@ithe data*

A B
Pet Votes
dog 32% 38%
cat 30% 28.6%
fish 12% 9.5%
bird 12% 9.5%
other 14%, 14.3%
C D
Pet Votes
dog 41.1%
cat 22%
fish 8%
\ bird 8%
her 15% other | 20.9%
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3 (6.14A)

The table shows the charges for using a two different debit cards.
Debit Card Fees

Card Transaction Fee

the first 10
transactions per
month free; 0.02%
charge on cash
withdrawals beyon

F the number of ns the customer plans to make each month
G the ave nt'@f money withdrawn per transaction

H nej A, n

J bot
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Spiral 107
1(6.3D)

A meteorologist charted the temperature change in Nome, Alaska every
four hours over a 24-hour period in degrees Celsius. The table sh

changes he recorded.

ronange 9%

4:00 AM -2

8:00 AM degree

12:00 PM +2 degrees

4:00 PM -2 degree
-4 degrees
-2 degrees

If the beginni rature was -28°C what was the final temperature?
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2 (6.14C) d

The check register shows Ezekiel's balance at the beginning of the day on
October 10.

Deposits Withdrawals

DElE DESETpuo (dollars) (dollars)

10/10 | groceries
10/10 | phone
10/10 | savings
10/10 | credit card

and pays his credit card bill for $189. What is
of the day?

F $1,286.37
G $2,841.37
H $1,841.37
J $1,022.37

3 (6.14E)

her current credit report. Which information is
ort, but does not affect her credit score?

redit payment history

D the account balance on her auto loan
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Spiral 108
1(6.4B)

The ratio men to women working as electricians is 5:2. If there are 255
men, how many of the electricians are women?

F 120
G 637
H 102
J 125

2 (6.2D)

A math teacher asked students todist numbers greater than 1%? Students

suggest the numbers below:

2 o ¥ 43 !
5 2
Which numbers are than 1%?
3 7
A All of the stigge numbers. B 9, 15, and 2
2 3
onl D -3= and 1=onl
5o 3 500
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3 (6.14F)

Which of the following parts of a credit report would be most beneficial to a
lender?

F the borrower’s Social Security number
G the borrower’s current address
H the borrower’s date of birth

J the borrower’s history of past due payments or ban

O
§
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Spiral 109
1 (6.6C)

The length of a rectangle is four centimeters greater than the width. The
graph shows the relationship between the length, y, and the width,

y Length and Width

8]

B

Length (cm)

w

By=x+4

D x=4y
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2 (6.12D) N

Students voted for their favorite pet.

Pet Votes
dog 10
cat 8
fish 1
bird 2
other 3

Which relative frequency table corresponds t@ithe data*

F G
Pet Votes
dog 42% 41.7%
cat 30% 33.3%
fish 12% 4.2%
bird 12% 8.3%
other 13% 12.5%
H J
Pet Votes
dog 41.1%
cat 22%
fish 8%
\ bird 8%
her | 12.5% other | 20.9%
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3 (6.8D) |

The rectangle below represents the base of a rectangular prism. Rayshard
measures the dimensions of the rectangle to the nearest centimeter.

-

If the height of the prism is 17 cm, is thévolume of the prism in cubic
centimeters?

Record your answer andsfill Inthe bulibles. Be sure to use the correct place
value.

X

@EQO®OEEE
@EO0O®O®EE O
@EQO®OEEE
@EQOO®OEEE
@EQOOO®OEE G
@EQPO®OEEE
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Spiral 110

1 (6.6C)

Carly writes a situation that can describe the relationship between all the
values of x and y in the table.

X
3 8
5 10

Which situation best describes th between all the values of x

and y in the table?

an he usin, Adelle.

e
eve ree books his friend read.

F Kimberly is five years

G Jake read eight

H In three years@sa will make eight complete orbits.

J Movie g@e tickets for every eight dollars spent.
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2 (6.12D)

The dot plot and pie chart show the fruit each student chose for a snack.

Which key matches the pie chart?

A

SpiralEd Solutions

®

o @

o ® o

o o [

@ @ o
apple orange | banana

KEY

Apple

Orange

Banana .

Snack Choices

KEY

Apple

Orange .

Banana
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3 (6.14E)

Mr. Dennison review his current credit report. Which information included in
the report actually affects his credit score?

F his date of birth
G his Social Security number
H his credit payment history

J his employment information

O
§

© 2017 SpiralEd Solutions




Spiral@ Solutions

Spiral 111

1 (6.8D)

Cam measured the isosceles triangle below.

He determined that the length of asg is 20 cm, the height is 24 cm,
and the length of each side is 26

What is the area of the triangle in sq ntimeters?

A 480 cm?
B 260 cm?
C 240 cm?
D 250 cm?

© ZU'1 /7 Splraled solutions




2 (6.14A)

The table shows the monthly fees for the checking accounts at two banks.

Checking Account Fees

Bank Monthly Fee

free checking for the
W first six months; $1
per month after the

first six monihs

What information can the custo help him decide which account is
the better option for him?

F After 18 months the two ounts wilRgost the same.
G Up to 12 months,
H Up to 18 months,
J Up to 24 mont

is I expensive option.
is the less expensive option.

is the less expensive option.
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3 (6.14F)

Which of the following parts of a credit report would be most beneficial to a
lender?

A the borrower’s Social Security number

B the borrower’s current address

C the borrower’s history of credit payments
D the borrower’s date of birth

O
§
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Spiral 112

1 (6.8D)

Mary Leigh bought a candy bar and divided it into four equal pieces to
share with her three friends.

If the dimensions of the whole candy bar are h y 1.5 inches, what
is the area of each of the four piece

?\

H 6 in?
J 2.25in?
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2 (6.14C)

The check register shows Michael’s balance at the beginning of the day on
June1.

. Deposits Withdrawals
DEE DESEpUEn (dollars) (dollars)
6/1 phone bill
6/1 gas bill
6/1 paycheck
6/1 rent
6/1 transfer to savings

During the day Michael pays his phone bill foR$87.53
$27.42. He deposits his paycheck of $1,456.
$950.00 and transfers $50 to his sayifigs account.
balance at the end of the day?

A $1,891.85
B $2,841.85

C $1.841.85 QV

d his gas bill for
pays his rent for
at is Michael’s

D $3,741.85

3 (6.14G)

Rand veral methods to pay for college. Which method will
uir dall'to have a campus job?
F

G loan

wauk-study J savings
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Spiral 113
1 (6.13A)
The reading grades of sixth grade students are represented by the stem
and-leaf plot.
Reading Grades
Stem Leaf
8|2 3 4 5 6
91 3 9 9
10| O
KEY
5|2 = 52
Which statement best describes the data repr the stem-and-leaf
plot?

A The range of the data is 22 po
B The median grade is 86.

2 (6.14E)

Jan
How

ye

d that her credit score is too low to get a loan for a car.
eihformation in her credit history be retained?

IPher debt is paid

ears

J 7 years

& 4V YUMIAILU YVIUUVIIO
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3 (6.14G)

Alexandria is a member of the National Honor Society, Future Farmers of
America, and theater. Being a member of each of these organizations
might help Alexandria obtain what money toward college?

A savings
B work-study
C loans

Q&
v
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1 (6.10A)

Christian found the sum of two angles of a triangle to equal 119°. To
determine the measure of the third angle, m, Christian used the e ion
m+119 =180. What is the measure of the third angle in degree

F 61°
G 51°
H 69°
J 59°

2 (6.14H)

Jason learns to weld in his high

two-years of training and a
Jason works 40 hour
difference between @
A $32,000

B $72,000

C $40,000
D $2
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3 (6.14A) |

The table shows the charges for using a two different debit cards at an
ATM.

Debit Card ATM Fees

Card Transaction Fee

W $2 per transaction

What information can the custome to him decide which debit card
is the better option for him

F the number of trans S cu er plans to make at an ATM each
month

G the PIN num ebit card

H the amount of e eustomer plans to withdraw in each transaction

the customer plans to maintain in the account
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Spiral 115

1(6.11)

The coordinate grid shows four points.

y

z Y

2
2

If point Z is translated two 4@Rits &s to the right to create Z4?
e qu

Which ordered pair is i rant as Z1?
A (-3, 8)

B (-2, -4)

C (5, 3)

D (4, -6)
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2 (6.11)

The coordinate grid shows four points.

y

iX units to the left to create X?
X1?

If point X is translated two units n S
Which ordered pair is in the same dra

F (-3, 8)
G (-2, -4)

§\/
?\
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3 (12C)
The stem and leaf plot shows the weights of eight sixth grade PE students.
Student Weight
Stem | Leaf
8 4 5
9 13 6
10 3 8 1

What is the median weight?

Record your answer and fifllin the bubblgs. Be sure to use the correct place
value.

©O|0|0| |©|©
O|O|0|0| |O|®
@0|0|9| |@|®@
@|®|0|6| |06
OO CHOIMIONO
®O|®|0|0| |©|G
®e®®|®| |®|®
Q10|10|10| |@|@
@|0|0|0| |©|O
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Spiral 116
1(6.6C)

The table shows the total number of laps run, r, and the number of days
spent running, d.

anlwl]a
N
o

Which statement is true, based o tion in the table?
F The number of laps run i ach day.

G The runner compl
H Each lap is 75 mé

J As the numbe increases, the number of laps decreases.
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2 (6.6C) |

The table shows the length of a side of a rectangle, y, in relation to the
width of the rectangle, x.

X y
3 21
5 23
7 25
9 27
Which statement is true, based on th&’informatio e table?

B The width is seven times the leng

C The length is 18 more thamthe width.

D The length is 18 Ig @ the
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3 (6.6C) |

The table shows the number of miles driven, y, in relation to the gallons of
gas consumed, X.

X y
2 48
5 120
8 192
11 264

Which statement is true, based on thepinformat e table?

H The length is 18 more thagthe width.

J The car averages p n.
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1(6.8D)

Amber used an interactive graphing program to “stretch” a paralle
maintaining the height and side measurements while increasing
of the base. She used her investigation to complete the tablg

SplralEd Solutions

Parallelogram Base Height |
W k cm 82 cm 1 cm?
X 6.5 8.2cm m cm?
Y ncm 2cm | 57.4 cm?
8.2cm p cm?

easurements is NOT correct?
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2 (6.8D)

Juan measures the trapezoid below to the nearest centimeter to determi

its area.

-, 0

What is the area of the trapezoid to th rest square centimeter?
Record your answer in bubbles. Be sure to use the correct place

value.

O &

OO ®OOEOE
©OEQ@VO®OOOOG
©EQO®OEOE
©@EOO®OEEE
©OEO@V®OOO O
OO ®OOEOEG
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3 (6.14F)

Because Ginger’'s family cannot afford her college tuition, Ginger applies
for a work-study program, grants, and scholarships. She tries hard to avgid
loans. What is the primary advantage of work-study, grants, and
scholarships over loans?

A The loans must be repaid, and the other methods of financi

B Being part of a work-study program will allow Ginger to m people.

C Scholarships will look better on her school record.

D Grants show that she has a financial need.
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Spiral 118

1 (6.12C)

The dot plot shows the ages of students taking a driver's education cour

o
[ [ .
1 1 . I. . l. . I. . 1
b 12 14 16 18 20 22 24
What is the mean age?
F 18
G 18.1
H 19
J17.8
2 (6.12C)
The dot plot shows of nts taking a driver’s education course.
[ ]
o [ J [ J
. . ® * s ° 8 .
- 12 14 18 20 22 24 -
Wha range,of the data?
5
B
C6
D
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3 (6.12C)
The dot plot shows the ages of students taking a driver's education course.
o
L L L
1 1 . I. . I. . I. . 1
b 12 14 16 18 20 22 24

What is the interquartile range of the data?
F5
G7
H6
J3

X
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1 (6.12C)

The table shows the results of an experiment timing four cars rolling do

SpiralEd Solutions

a ramp. Each car was tested five times.

Car Trial 1 Trial 2 Trial 3

One 2.5 sec. 2.4 sec. 2.3 sec.
Two 2.2 sec. 2.3 sec. 2.1 sec.
Three 3 sec. 3.1 sec. 2.8 sec
Four 2.4 sec. 2.5 sec. 2.2 sec

Which data set has the greatest mean?

A Car One
B Car Two
C Car Three
D Car Four
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2 (6.13A)

The histogram shows the weight ranges of nine sixth grade students.

Student Weight

Which statement best describes the data rep the histogram?
F There are more boys than girls in
G No student weighs less than 8
H Most of the students weigh more t ounds.

J The coach chose not 3 st nts.
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3 (12C)

The table shows the results of an experiment timing four cars rolling down

Spiral@ Solutions

a ramp. Each car was tested five times.

Car Trial 1 Trial 2 Trial 3 Trial 4
One 2.5 sec. 2.4 sec. 2.3 sec. 2.3 sec.
Two 2.2 sec. 2.3 sec. 2.1 sec. 2.2 sec.
Three 3 sec. 3.1 sec. 2.8 sec 3 sec.
Four 2.4 sec. 2.5 sec. 2.2 sec 2.1

Which data set has the greatest range?

A Car One
B Car Two
C Car Three
D Car Four
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1 (6.12D)

Bailey has 3 red t-shirts, 5 blue t-shirts, and 4 white t-shirts. Which list
shows the correct percentages to correspond to the number of t-s
Bailey has of each color?

F red — 20%, blue — 30%, white — 50%
G red — 25%, blue — 30%, white — 45%
H red — 25%, blue — 33.3%, white — 41.6%
J red — 25%, blue — 41.6%, white — 33.3%

2 (6.14C)
The check register shows Ben'’s at the beginning of the day on
November 5.
Date Descripti Depesits Withdrawals Balance
ars) (dollars) (dollars)
$857.22
/s $42.90
/s $78.99
L §75.00
11/5 $153.99

B $814.32
C $735.33 D $1,022.37
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3 (6.14F)

Which of the following parts of a credit report would be least beneficial to a
lender?

A the borrower’s account history and status
B the borrower’s history of past due or late payments
C the borrower’s date of birth

D the borrower’s credit score

O
§

© 2017 SpiralEd Solutions






